TR A AR R AR S

2. PT124G-125/125T (ZZ2BiiEg%E)

AZHYQ

PT124G-125/125T RANRME PRSI, ARPigaeiiaity. TR TR EREEk
G R R A ) IR, o 125 IRk I AR s, TSR RN ) A IR 2% i ARRT FES
VB R AR RO B A e e T — 5, HEA BT TPk . @M TR fReT, 280 Ae CEE Tk
e SR A 51 s R s

. FH 4535k
L JEEIRAR &S
& RBEHE A
& AL At AT
L I = b N DS M R e I E i
& Pt PREEIE N
& RSN, AN R
& Rk, BiREgR
& 80% N HE
& RIFMiRErER M
SNE RS
= moﬁ P N SW16 o s _
= B
By f e
s |
L=152. 4 73 i
800 -
TRl
N
\\\'\
86 30 . 71 n 33 ~ '\_L\ - SW
\_\.:\. \\\
® 0|0 @ e =1 = E SIAE
Te o[c e P E————== sk

ZHYQ RIS ¥ Page 1 of 4



AZHYQ RO £ A

SRS

T 0....3.5MPa#%0....150MPa (0..500psi..20000psi)
s 2 mV/V :3.33mV/V

CRORERE +0.5%FS; +1.0%FS

A R 10 (9-12) VDC

EVRET +0.2%

GEK S MY

Mr 4% BT : 350 ohms+10%

INEEYIWIE 2xFSO

P R 80%+1%

M) J3: ) <5ms

RN iR : | 0~400°C

A4 By pg HL 4

TR IEE:: 1/2"-20UNF, M14x1.5, M18x1.5 ,G3/4 (%7€ )

PT124G - 111 S 4 e |- ST O R I R . .
D B K s LIRS YRIRLL LU W55

o

0...3.5MPa~0...150MPa
&3 547 MPalpsi/Bar

1: FEJEH 1.0%FS
2: Kl 1.5%FS

fEIAS: 2mVIV, 3.0mV/V, 3.33mV/V

AT K E: S: 6”7 (152mm), 9”7 (230mm), 12" (305mm)
WOEKEE: N: 18”7 (460mm), 307 (762mm)

M14X 1.5, 1/2-20UNF, M18X1.5, M22X15 AJitF

D: #=5]%k

J BES I, K HESAK E: 58S N E;
P: Pt100 %A pH.

Flim: PT124G-125T-35MPa-1.0%F.S-2mV/V-152/460-1/2-20UNF -pt100

ZHYQ 1L 5 il Page 2 of4



AZHYQ L 4 e

Wi 2 ik

AR SRR IR Jpe 28 D R IR0, 70 23 2 Wi AN B T SLAR Y I, TR I A e 2 B R A A%
SRR o 2B AL T AR 22 FL S B S R I AR BRI T, 38k 4 PR e 25 FLAN R UE 5 2 RIS
A0 R AR IR 1 T A
2 fE R PFIR

LA ELLRAUE 22 FL N AT I8 B 1 4 e sl o k), 03 BT HH AL i R T A7 (1A s PR B3R T
A BRI BICRES N A BEPF FARIESS, 3% N 7 B AT KA B RSk I R 8% o TR 3
W TR 10T RS ) ] AR 2o FL IR & F i oot T LR B0 B ZE L P (R AR DU O Ik 2285
3XFREI

B BRI B UE 7850 (0 AR A IR TR), - DURA R BT H LB AR 1A 38 PR ISE 1 S0 57 1) BT A P kL R AT
RS
4 ZHNE

A TR RS 38 T T iR, R AR SRR TS AE 80°C LU, B AAE 23l A R b — o By b e iy
A T B AR e o ] s E SR A T o AN e X B ol 25 R T B A TR P U R P8 RO A P A
5.3 #

FESEPr R 4l 2 p, SRR I 2 W, BARARIRA A e 8 RE , (ER I TR ok 5
M SR 1) 0 e P8 RS FH i

6. 15 AR ) B S
FEHVE RS R, ARIERS A5 5 O B 8 Z00 S R AT A A T B2, B I K T30
ZEILSTERAEE
D1 | M18X15 | M22X15 | G3/8" G3/4"
—©J0.02[®)] >
- D2 | ®10.2 | ®16.1 P 10. 2 ®18.3
ZZZZZZZ§T‘7jzzzZZZ737'? D3 | ®155 | ®20.1 | ®14.5 | ®24.2
=5 | 7_E§E M D19 ® 23 17 P 28
A 11 11 9 1
422224222224%
e B 13 13 10 14
C B
SR 2 C 40 25 25 40

D1 | M12X15 | M14X15 | 1/2-200NF | M18X 1.5

D2 8.1 ®8. 1 ®8. 1 @ 10.2

W % D3 ®10.8 ®12.5 d11 ®15.5

7 D4 13 ®15 ® 14 ®19
~4ZZZLZZZZJ A 6 6 6 6

c B B 9 9 9 11

AN

45° RiE L C 16 16 16 20

ZHYQ RIS ¥ Page 3 of 4



AZHYQ
WA I i Bt 5%
WiES: &5 (S)+ e 1
0/5V, 0/10V; i, R (E)+ EAR:) 2
2.0mV/V 5(S); B 3 ]
.37 (E)- 5 4 O
K (C) 24 5 2%
XA Tk ik 5% (98
W5 & 5 (S)+ e 1 —
4/20mA IR (E)+ FAR ) 2 -
B (C) wE 4
B (C) Z2g 5
WEXA I i B, 6 %
W5 5 (S) + ) A
0-5V;0-10V; fEE(S) - St B
3.33mVv/V W IR (E) + 214, C
H. R (E) - EE D
B A(C) B E
B (C) e F
XA T ek B 6 &
BHEE: 38 E+/f5 & S+ FARE) A
4-20mA R E-/fE %5 S- ke B
BAE(C) #= 6 E
BAE(C) 6 F
XA )3 Bt 8 X
W fiES: I8 (E) + 41, A
0-5V;0-10V; Z5(S) + e B
3.33mVv/V W, B (E) - # 1 C
fZ5(S) - g8 D
BE(C) g E
RAE(C) Z2g F
75 i — G, H
WA T 6 B 8 X
BWHES: WE E+1E 5 S+ I A
4-20mA R E-IE S S e B
BAE(C) By E
BAEC) e F

b L AR R AT

IEFATTIX R AR B 1276 S 115 5 8 1% 5-6F
Tel:+86-21-67755188, 51691919 Fax:+86-21-67755185
E-mail: info@zhygsensor.com
www.sinosensor.com (F132)  www.zhygsensor.com (J30)

ZHYQ AL

& JFH1011000025  1s09001:2008 C €

Page 4 of 4






